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Question 1

a)
Only (iii) is correct.

b)
See spreadsheet file.

Obj. value = 53.81
X=3.1; Y=0; Z=2.86; Reduced cost for Y=-5.24
If Y is raised from 0 to 1, the objective value falls by 5.24 

c)
Adding the constraints that changing cells must be integer, the new solution is:
Obj. value = 50
X=5; Y=Z=0


Question 2

a)
=SUMPRODUCT($C$6:$H$6,C12:H12)

b)
$28,160,720

c)
C6:H6(0
D24:D31(0
E24:E31=G24:G31

d)
Linear because the formula is only used to calculate constants for the model.

e)
No because the dual price only holds down to 2000-313=1687.

f)
99-1.94=97.06.

Question 3 (a)

	Trial
	R
	(y
	Portfolio A
	Portfolio B

	1
	36%
	0.13%
	318240
	270778

	2
	-23%
	0.60%
	180180
	218381

	3
	-18%
	2.8%
	191880
	195863

	4
	28%
	-1.8%
	299520
	293887


A's value=300*(1+R)*780

B's value=100*(1+R)*780+300*[1000/(1+0.0676+(y)9]

b)
EV(A)=247445
EV(B)=244727

c)
To compute the confidence intervals we need the means and standard errors from the two samples.
A:  247455(1.645*[71498/sqrt(4)]. I.e 188653 to 306257
B:  244727(1.645*[45377/sqrt(4)]. I.e 207408 to 282046

d)
A: 2/4=0.5
B: 1/4=0.25

e)
C's value = 275*(1+R)*780+275*MAX(-780*(1+R)+740,0)

	Trial
	R
	(y
	Portfolio C

	1
	36%
	0.13%
	272195

	2
	-23%
	0.60%
	183975

	3
	-18%
	2.8%
	186975

	4
	28%
	-1.8%
	255035
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